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Read the following passage and answer the questions 1 to 5.
Women and Natural Resources

Probably no other group is more affected by environmental destruction than
poor village women. Every dawn brings with it a long march in search of fuel, fodder
and water. It does not matter if the women are old, young or pregnant; crucial
household needs have to be met day after weary day. As ecological conditions worsen,
the long march becomes even longer and more tiresome. Caught between poverty and
environmental destruction, poor rural women in India could well be reaching the limits
of physical endurance.

Biomass plays a crucial role in meeting daily survival needs in the vast majority
of the rural households in the country : food, fish, fuel (firewood, crop wastes and
cowdung, organic manure, green mulch and forest litter), building materials (timber
and thatch) and medicines (herbs), are all different forms of biomass. Water is another
crucial element in human survival and its availability is definitely related to biomass
in a country where rain falls only four months in the year. When the biomass in the
surrounding environment disappears, water sources like streams and ponds also tend
to disappear soon after the monsoon. An important aspect of this biomass-based
subsistence economy is that it is monthly non-monetized. Water, fuel, fodder, building
materials and even food to a certain extent are all gathered freely from the immediate
environment. Production and processing of biomass agriculture, forestry and village
crafts based on biomass as raw materials are also the biggest sources of employment.

Unfortunately industrialization, urbanization and the advance of the cash
economy have greatly affected the country’s biomass base. The destruction of biomass
with deforestation and devegetation and its transformation away from rural and
household needs and towards urban and industrial needs (planting of teak or
eucalyptus in place of sal or other natural vegetation, for instance) is having a major
impact on the lives of all those who live within, the non-monetized biomass-based
subsistence economy. Marginal cultures like that of tribals and nomads are the first to
face total social destruction. But women, not only within these cultures but in all rural
cultures, face the maximum threat. '

The special difficulties that women face — their extraordinary work burden or
lack of access to health care, for instance, do not arise out of ecological deterioration per
se. They are located in the sexual division of labour marked by a double work burden
(at home and outside) and by the specific nature of tasks they do, and in the unequal
distribution of resources like food within the household, which stems from women’s
inferior status in the household and from a lack of control over cash and productive
resources like land. But given this situation, environmental destruction exacerbates
women’s already acute problems in a way very different from men.
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1.
(1) wrh ot agg "2 uade of agg
(3) WA e i Y (4) T e =it TR
Which group is more affected by environmental destruction ?
(1) Urban women group (2) Village women group
(3) Village poor women group (4) Urban poor women group
2. R uTw OIS IRHIE=AT Yot Sifad wid T 2
(1) iRifrefem (2) AFTEER
3) T sl @) ol wh T
Which factor does not affect the country’s biomass base ?
(1) Industrialization (2) Urbanization
(3) Cash Economy (4) None of the above
3. FIT THIE Ak WSS T 9T Had ? ,
(1) onfeardt 3 yea Smwd \ (2) = S
(3) st ot , (4) gt HEHl
Which type of people face social destruction ?
(1) ’Aboriginal and nomadic tribes (2) Poor women
(3) Illiterate groups (4) Rural culture
4, e wwfior s St e T 0.
(1) <R TEcaTE! i asmEat
(2) Woft R UH SREE AR
(3) ¥ wEcaT= SRt SotTEal
(4) SR T SR T AR
Explain the role of biomass of the rural households in the country.
(1) Biomass plays a crucial role
(2) Water is one of the biomass
(3) Firewoed plays an important role
(4) Biomass is not important in rural households
5. q B 9EEE1 forTe .

(1) henfiEheor 3 armles
(2) . fafe ot T v gl

(3) ST AT aead frndiagon
(4) onfeamdt T wed

and destruct the biomass.
(1) Industrialization and urbanization .
(2) Subsistence economy and marginal culture
(3) Deforestation and devegetation
(4) Tribals and nomads
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Read the following passage and answer the questions 6 to 10.
Forest Policy and Impact

In her book Ecology and the Politics of Survival, Vandana Shiva (1991) argues
that tropical forest resources are undergoing the world’s most severe ecological and
economic crisis. The food security of the entire world depends upon linkages between
the ecological stability and the economic well-being of the majority of the world’s people
who live in the tropics or the Third World.

Shiva explains the crisis of tropical forestry in the light of the conflicting
demands for biomass by the three fundamental economies associated with forests :

1. Nature’s economy of essential ecological proéesses.
2. The survival economy of basic needs satisfaction for people.
3. The market economy of industrial-commercial demands.

Nature’s economy of essential ecological processes generates a demand on the
products of the forest in terms of the maintenance of soil systems and the hydrological
balance of the forest ecosystems. The survival economy of basic needs satisfaction
reflects the requirement of forest biomass (wood fuel, fodder, fruits, nuts, green
manure, small timber, etc.) by people living in and around forests. The market economy
of industrial-commercial demand converts forest biomass into items of the formal
market economy, such as pulpwood, plywood, furniture, housing timber, wood fuel, ete.,
for the urban market. Nature’s economy and survival economy have always overlapped
in India. They functioned simultaneously without conflict as the survival needs of local
people were satisfied through conservation-oriented utilization.

The colonial rule introduced dramatic breaks in usage. The former perception of
the multiple functions of a forest ecosystem was replaced with a one-dimensional
scientific forestry whose only objective was maximizing production of commercially
valuable timber. Market logging eliminated the utilization of forest resources for
ecological or economic objectives. Post-colonial forest policy further aggravated

115

utilization conflicts and forest degradation. The system of clear-cutting (with artificial .

regeneration) was adopted. Shiva concludes that converting natural forests to
pulpwood plantations further eroded biomass needed for fuel, fodder, fertilizers, etec.
Monoculture plantations of eucalyptus, pine, etc., severely undermined ecological
processes in mountain catchments like the Himalayas and the Western Ghats.
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6. fidiewn a=gEn swgeEn TR AT AT,
(a) TR AT oIS
(b) wafeome T
(¢) vEES ,
(d) IR eI Tl Wi T Hewor
it I
(1) %ad (a) (2) % (b)d (c)
(3) % (b)a(d) (4) wF (a)9(d)

According to the given passage, food security depends on
(a) food production

(b) ecological stability

(c) monsoon

{d) economic welfare of the people living in tropical region

. Answer Options :
(1) Only (a) (2) Only (b) and (¢}
(3) Only (b) and (d) (4) Only(a)and (d)

7. fiden sa=nesd wRardie STerlt Sefie SHEEETn ST g 9EI aal ?
(1) AT 9 ST q9

(2) ST gEET Afa AR

3) =T g

(4) Fa= snfcardiardt st

Which approach of a community related to forests in India, do you understand from
the given passage ?

(1) Conservation and use of forests
(2) Excess use of trees in the forests
(8) Forests for expansion of trade

(4) Forests only for tribal people
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(a) ST HaB TSR fEm

(b) e ged futn

(c) TUhwerd TR UM i AR A et

(d) Srewhe Safafaar T '

T I

(1) % (a) (2) ®H (d)

(3) W (a), (b) 3 (c) (4) ofewd

What are the effects of colonialism ?

(a) Forests considered only for market benefits

(b) Conflicts generated due to forest wealth

(¢) Monoculture objectives of forestry were implemented

(d) Loss of biodiversity in the forests

Answer Options : - '

(1) -Only (a) (2) Only (d)

(3) Only (a), (b) and (c) (4)  All of the above
9. W SAFATE! NeAEd] gl Y TR ?

(1) vEfERT=n 5/ § Hedt aTEuT

(2) T wEiawer giter 9 ged aadast

(3) Wi gepdidia s w=

(4) UHE THREAT JHATESH BES

What is the central idea of this passage ?

(1) Environmental degradation and reduction in forest wealth
(2) Wrong environment policy and reduction in forest wealth
(3) Place of forests in Indian culture

(4) Benefits of monoculture tree plantation
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10.  IEQ SAIEEA Gietathl FIvE fised sear Jam 2

(a) STEEAHT I SHTSATET UGN AT THHhiaR g fsHaT TR,

(b) gagr il Fafrd gar=h gy o s %% @,

(c) TETRTATE ORI S A% BvaR FHROMT IR,

(d) = FuitE Freftat smaTfia SIS STeraTT STTETER. ST AT,

i I ;

(1) & (a)

(2) = (b)

(3) W (a), (b) U1 (c)

(4) & (b), (c) A (d)

Which conclusions can be derived from the passage ?

(a) Conservation of forests and use of forests are interdependent processes.
{(b) We should not cultivate more Pine and Nilgiri trees.

(c) Crl)lonial policy has caused the reduction of forests.

(d) Market economy based on trade demand does not depend on forests.
Answer Options:

(1) Only (a)

(2) Only (b)

(3)  Only (a), (b) and (c)

(4) Only (b}, (c) and (d)
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&M (Momentum) (P)
FEE AN 9 SEGAH A1 INER GO €A, P = mv. Fa qi@dH g SR Se ST
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. T geEardien A = mu,
‘t’ SR IR Geg AfH €9 = mv

. HaT yiEdqrE = ! LG

¥
*. HaT YERaET | = my —mu m(v —u) = ma |
. - t - B t -
e Teftfereer gEean FanTER, Han aREdAen R R aet SHEdT e,
s masx<F ‘
o F =k ma (k = f@® oga &= 474 1 21@)
F=mxa

Ham Agraan fagia (Law of Conservation of Momentum) : :

THSAT, A I T 9EGAE m, IR T gEardien an u; R, e B A1 a%E 95gEH my
aga fo=n geamdar 9 u, IR, WA PIER, A SEE AW 69 = mgu; 9 B aEqEl
FEEIET §AT = myuy, ST A1 A TR THAFE! A THesl A 99 B a&{s F) 9

A B A TG e 8 @ fa=r 3 v, g,

S A TEET AEEAE §41 = my vy ~

== wefifawas foo=n faagar, A o 3de B 9 1 @9 aa f9eg [9A 1ge
WSt B Sl €3 weel Bl qua A A v I B SEET A §4T = mgvg W
B 9= M F, 901 7Y Bld 318d W, .

F2=—F1
- Mgag =—mqdy ... . F=ma
vy —u,) (vy-u,) v -
my x —2—2 =—my X L1 (tu)

A m2(v2 _ 112) = - ml(vl — Ul)
R MoVy — Mollg = — myvy + mjuy

S MgVy + MyVy = MUy + Myly
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TR W SS9 I HE B T W e TR S99 @ SiRm v @3
TREE FEa. aE ge fhdid owelt o @mEdt @ fGum g oa. B aegH wen R ge
G AT R K FIE] STEl 96 FRAG F0 9 9 TR T3 fRR Tghal, 71 =g g
Hifdafa Bl T TEn 9N FH S W gET aRE a9 deaen e’ @M ' figa
T S G 391, SR G aeqet o W] o o STHTaTqaiET TR §ah § oA
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58T m; TEGIEE M m, TGIHN Sghiqd AREA I, T8 v, A e Sam fo=m wgm
T myv; BA). e Igavagell g onfT e fRR e geaTdia HaT YT IR 9 TRU g9
Wgsh AT {39 Wad. 7 wevaren WS (Recoil) TEUME. Wgsh SfASW A (vp) 39T ugd
W, it ,

mpvy + myvy = 0.
Read the following passage and answer the questions 11 to 15.

Momentum (P)

Momentum is. the product of mass and velocity of an object. P = mv. The rate of
change of momentum is proportional to the applied force and the change of momentum
occurs in the direction of the force. Momentum has magnitude as well as direction. Its
direction is the same as that of velocity.

Suppose an object of mass ‘m’ has an initial velocity ‘uw’. When a force F is
applied in the direction of its velocity for time t’, its velocity becomes ‘v’

.. the initial momentum of the object = mu,

Its final momentum after time, ‘t’ is mv

Change in momentum
Time

-. Rate of change of Momentum =

mv-mu mv-u) _
t t

According to Newton’s second law of motion, the rate of change of momentum is

ma

. Rate of change of Momentum =

proportional to the applied force.
. maex<F
- F = k ma (k = constant of proportionality and its value is 1)

F=mxa
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Law of Conservation of Momentum :

Suppose an object A has mass m, and its initial velocity is u;. An object B has
mass m, and initial velocity uy. According to the formula for momentum, the initial
momentum of A is myu; and that of B is myu,. Suppose these two objects collide. Let
the force on A due to B be F;. This force will cause acceleration in A and its velocity
will become vy. |

. Momentum of A after collision = m;v,

Aceording to Newton’s third law of motion, A also exerts an equal force on B, but
in the opposite direction. This will cause a change in the momentum of B. If its velocity
after collision is vy, the momentum of B after collision = mgvy. If Fy is the force that
acts on object B,

Fy=-Fy.
™ ", MgfAg = — M;aj .... as, F = ma
v, —u (v, ~u,) , v-u
myx 220 oy x LD ca=t t )

o ]112(V2 - \12) =— ml(vl - 1.11)
. MgVg — Mollg = — MyVy + MUy
s MgV + INjVy = Myuy + Mply
The magnitude of total final momentum = The magnitude of total initial momentum

Thus, if no external force is acting on two objects, then their total initial
momentum is equal to their total final momentum. This statement is true for any
number of objects. “When no external force acts on two interacting objects, their total
momentum remains constant. This is a corollary to Newton’s third law of motion. The
momentum is unchanged after the collision. The momentum gets redistributed
between the colliding objects. “The momentum of one of the objects decreases while

- that of the other increases.” Thus, we can also state this corollary as follows. “When

) two objects collide, the total momentum before collision is equal to the total momentum
after collision.” In order to understand this principle, let us consider the example of a
bullet fired from a gun. ' '

When a bullet of mass m; is fired from a gun of mass mg, its velocity becomes vy,
and its momentum becomes m;v,. Before firing the bullet, both the gun and the bullet
are at rest and hence the total initial momentum is zero. According to the above law,
the total final momentum also has to be zero. Thus, the forward moving bullet causes
the gun to move backward after firing. This backward motion of the gun is called its
recoil. The velocity of recoil, vo, is such that,

m;vy + myvy = 0.

FFEeI] HIHTATS! ST / SPACE FOR ROUGH WORK P.T.O.



I15 14 A

11. 3 959 FEGAH ATHA 200 gm 1T 300 gm YT I THE WX 9 THE 3 8 m/s  anifor
4 m/s P 10 3MMed. Al TFR &d 9 TFH FIoATR UiEell a6 5 m/s I i 8,

TR WICATER GEAT I AT F1
(1) 06 mfs (2) 60m/s
(3) 6mss 4) hed$ rd T

Two objects having masses 200 gm and 300 gm, are moving along the same line in
the same direction with velocities 8 m/s and 4 m/s, respectively. After the collision of
the two objects, the first object moves with a {'elocity of 5 m/s. After collision, the
velocity of the other object is : '
(1) 06m/s (2) 60 m/s

- (8) 6mfs (4) None of the above

12. 29 ol T R i SrEr QiAo SR HIE ST 99 SRk A6e, T e TRy §a,
(1) a1 GeaTdiean et JFaegd o
(2) W et
(3) are
4) it g

The two objects are interacting without external force, their total momentum
(1) depends on the initial velocities of the objects

(2) does not change

(3) increases

(4) decreases

13. UH 95N TEEE 6 kg YT WG e @eHd @gF 170 em/s I sfedfi #, ®
iigﬁiﬂ AT HIE :
(1) 10-2kgm/s (2) 102kgm/s
(3) 1020 kg m/s (4) 102 kgm/s
The mass of a gun is 6 kg and it recoils with a speed 170 cm/s. What is the
momentum of the gun ?
(1) 10-2kgm/s (2) 1-:02kgm/s
(3) 1020 kg m/s (4) 102kg m/s
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14. T TH, A I B IR TEAF FFFA m, M my AR YereA Tifavas fre=n
FrergEr, AﬂBWﬁWW.Wﬁ,
(1) wAE o foeg oo o
(2) v st T R v
(3) THH o e fEw s
(4) IreAH i faeg faRr owd
Two objects, A and B have ma;sses m, and my, respectively. According to Newton’s
third law of motion, the force exerted by A on B is : '
(1) -equal and in opposite direction
(2) different and in the same direction
(3) equal and in the same direction

(4) different and in opposite direction

15. Ham gfEdaman &,

(4) Tt T T

The rate of changé of momentum is :

(1) directly proportional to the applied force
(2) ihversely proportional to the applied force
(3) does not depend on the applied force

(4) None of the above
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Read the following passage and answer the questions 16 to 20.
Mineral Nutrition

Mineral nutrition is of unique importance in the biosphere as well as in the
affairs of man. All organisms consist of atoms of chemical elements which remain
preserved in the rock, the oceans and the atmosphere. Only the green plants and
certain microorganisms can primarily extract simple inorganic compounds and ions
from the environment without being dependent on other living organisms. These
inorganic requirements are minerals and are called mineral nutrients. An element is
considered as essential, if without it the plant cannot complete its life cycle and no
element can be replaced by any other element. '

The elements known to be essential for higher plants are oxygen, carbon,
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hydrogen, nitrogen, potassium, calcium, magnesium, iron, boron and chlorine. The

elements which are required comparatively in greater amounts are termed as
macroelements and the elements which are of very small requirements are termed as
micronutrients. The mineral elements may be detected by plant analysis, solution
culture or hydroponics and solid-medium culture.

Plant analysis is of two types, wet digestion and ash analysis. The essential

elements perform many functions in plant life. Carbon, hydrogen and oxygen are the
framework elements. Nitrogen is a constituent of many important biomolecules like
protein, DNA, RNA, Chlorophyll, NAD*, NADP*, FAD, etc. Phosphorus is an important
constituent of nucleic. acid, phospholipids, etc. Potassium is required in high amounts
by plants for normal growth as it provides the necessary ionic environment for the
proteins inside the plant cell. Calcium functions both as a structural component and as
a cofactor for many enzymes.

Magnesium, like calcium, also serves as a structural component and is evolved
as a cofactor in many enzymatic transfer reactions. It is a component of the chlorophyll
structure. It is required to maintain the structural integrity of ribosomes and
chromatin fibres.

Being a constituent of certain amino acids like cystein, cystein and methionine,
sulphur participates in protein structure. Iron performs a number of important
functions in the overall plant metabolism. Manganese plays an important role in
photosynthesis. Boron is essential for sugar transport. It is also concerned with the cell

‘wall metabolism and pollen grain germination. Molybdenum is important in nitrogen

metabolism.
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16.  Hehisited TEUR H ?
(1) < 5eF FHH WO ATar
(2) W ugH GH YRV AN
(3) W HeF A YHIE ArTard

(4) SO R

What are macroelements ?

(1) Elements required in small amounts
(2) Elements required in equal amounts
(3) Elements required in large amounts
{4) None of the above

17. STEqdieAT |ATH FTERdT IV geeh ARd SHI0Td SE9TE Sgdl ?

(a) dRREM | (b) A

(c) oA (d) wfirm

Fiedhl Fow faum/faam st s/ 2

gt I

(1) w54 (a) (2) = (a) A1 (b)
(3} W (c) (4) % (d)

Which element is required in higher amounts for normal plant growth ?
(a) Potassium (b) Boron

(¢) Chlorine (d) Magnesium
Which of the statements given above is/are correct ?

Answer Options : |

(1} Only (a) (2) Only (a) and (b}
3y Only(c) (4y Only(d)

18.  Seddieal AYSTAS hHdsh JoHed HIvK 3R ?

(1) TEgNSHE, FAfdem, ST (2) HfcerEn, TREeH, qidfiEm

(3) TANEW, A, FE (4) hlad, BESNE, FATFET
Which are the framework elements in plant life ?

(1) Nitrogen, Magnesium, Boron (2) Calcium, Nitrogen, Potassium
(3) Magnesium, Iron, Chlorine (4) Carbon, Hydrogen, Oxygen

FeegT HHETHIS! ST / SPACE FOR ROUGH WORK
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(3) % (b) 3T (c) (4) H (c) AT (d)

Magnesium is essential for which structure ?

(a) Chlorophyll-

(b} Nitrogen metabolism

(¢) Photosynthesis

(d) Sugar transport |
Which of the statemerits given above is/are correct ?

Answer Options: ,
(1) Only(a) (2) Only (b)
(3) Only (b) and (c) ~ (4) Only(c)and (d)

A 19 115
19, STOdiAY WIET ATggehie M hHIvET HeE Hal ?

(a) <hiceEm (b) 3

(c) WA (d) ¥faem

Fhadh wrE fram/fem sis R/ ?

Tgidt IW :

(1) % (a) (2) e (a) IOT (b)

(3) %H (c) ' (4) e (c) M7 (d)

In plants which element is essential for sugar transport ?

(a) Calcium "(b) Iron

(¢} Boron (d} Magnesium

Which of the statements given above is/are correct ?

Answer Options :

(1) Only(a) (2) Only (a) and (b)

(3) Only(c) ' (4) Only (c) and (d)
20.  WARRE Fiven @EAET AEETE HH AR ?

(a) FARIE

(b) TGS HTaifersm

(c) VI BN

(d) 9rE qEgH

Ferteh o fum/AAE e /R ?

Ty A

(1) e (a) (2) % (b)
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WTEATE AW A 21 § 25 WA I .

REETS (235) ARENHHIR 7T =T AW A I R e §S AN 250U qam
@ammwﬁw@mwmwmwmﬁmwwmﬁm

235 236 140
U+0n—a 2U 56Ba+36Kr+20n.
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g fags i 02 amou. sohl o/, St 186 R 38w sfice (MeV) s T
g s faeeTETdt Agar 4-3 x 09%(vﬁ$aﬂqaiqﬁﬁ(235m)3%ﬁanwaﬂw
forgemEt s,

foger & sk wr aftd s, e wiEE o e S weheTeN Siewn Wifdd endd. ST
s o guifem 200U gaet fest e oy, o =gl weme 89, w8 @ fde B
FTATAT FHN B WA, Feeh dSd GU MSATHIE FA1 Ieafora 2id M Tt Jam w1ed IgHaeidt
T Jeqiia grar.

238y +; > oy 9°Rb . 14403 c2ln.
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Read the following passage and answer the questions 21 to 25.

- When uranium isotope-235 is bombarded with slow neutrons, 236U is formed by
capturing a neutron. The 236U being unstable, breaks into two fragments besides

. 36 140 94
releasing two or more neutrons 235U + 0n 2 U — 6Ba + Kr +2 n

The above is a typical ﬁssmn reaction. Durlng a nuclear fissmn, a large amount

of energy is released due to mass defect, i.e., the sum of masses of the two fragments
and the neutrons set free, is less than the sum of the (given) masses of the reactants.
This mass defect, for a particular amount, in uranium fission is ef the order of
0-2 a.m.u. which corresponds to the production of 186 million electron volts (MeV) per
uranium atom fissioning or about 4:3 x 10° k cal per mole (235 g) of uranium atoms
fissioning. ' _ '
The fission process is complicated. Over thirty pairs are known. Let us now
consider the most famous nuclear fission, that of 235U brought about by neutron
capture. Although this fission process occurs in a large number of ways, in each case a
large amount of energy is released and more than one secondary neutron emitted.

235U + :)n - 236U Y 90Rb + 144Cs +2 1n.

Two neutrons are emltted for every neutron that initiates the fission process.
The neutron emitted during fission may be further absorbed by other 35U nuclei thus
causing further fission and emission of more neutrons. In this way, a chaln reaction
starts releasing tremendous amounts of energy. However, if the amount of 232U is
small, most of the neutrons will escape from the surface and the reactions will stop.
Therefore, a critical mass of metallic uranium is necessary in order to start and sustain
a chain reaction. The critical mass of 2ZZU has been found to be between one to
hundred kg.

The basic principle of atomic bomb is the chain reaction. At the time of
explosion, the two radioactive samples of each subcritical mass, but whose total mass
exceeds the critical mass; are brought together by the use of ordinary explosives. Once
these subcritical masses come together, a chain reaction starts releasing a large
amount of energy.

The principle underlying such nuclear fission has also been employed in
harnessing vast amounts of energy in nuclear reactors. In these reactors, the fission

115

reaction is made to occur at controlled rate. Essentially, a reactor consists of lumps of -

2352U separated from each other by blocks of graphite or heavy water (neutron

moderators} which by slowing the neutrons, helpin controlling the chain reaction. The
large-amount of heat which is released during the reaction is converted into electrical
energy.
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21.

22 : A

forme wishaimes Fufor gor= 3o s et Hioredn drehar/ Al sEeEs SE ?
(a) iR R Tegam

(1) % (a) 3 (c) (2) % (b)

(3) wH (d) (4) W (a) 3T (D)
In fission processes, the amount of energy released depends on which of the following
factor/s ?

(a) The mass of the reactant

(b) The mass of the product

(¢) The mass of the reactant and product

(d) The loss in mass duﬁné fission

Answer Options :

(1) Only (a) and (c) ' (2) Only (b)

(3) Only (@ . (4) Only (a) and (@

22.

Fefta wimed fames (S 9) &1 % qraee Jar ?

(a) —FE WS UT HOATHIS

(b) = 3T ArefEvaETd

(¢) +ggidt 39 it B3 = an He sawE, S AR YR RS I
it I :

(1) = (b) (2) % (c)

(3) & (a) @) (a), (b) 3T (0)

In nuclear reactors, why is moderator (heavy water) used ?

(a) To cool the nuclear reactor

(b) To enhance the energy of neutrons

(¢) To reduce the energy and hence the speed of neutron so that it slows down and
gets captured

Answer Options :
(1) Only (b) ‘ (2) Only(c)
(3) Only (a) (4) (a),(b)and (c)

FET HTTATS! ST / SPACE FOR ROUGH WORK
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23.  @refiet yiehfeda sfifhan Qi %ar :
235 1 x y 1
92U R 54Xe + 388r +4 oR
(a) x=141,y=91 b) x=139,y=93
(¢) x=141,y=93 (d) x=139,y=95
gt IW: .
(1) % (b) I (d) (2) E (a) A (c)
(3) %ad (a) WM (b) (4) HF (c) M1 (d)
Complete the following hypothetical reaction :
235 1 X ¥y 1
92U + o0 54Xe + 388r +4 B
(a) x=141,y=91 (b) x=139,y=93
(¢ x=141,y=93 d x=139,y=95
Answer Options : .
(1) Only (b) and (d) (2) Only (a) and (¢)
(3) Only (a) and (b) (4) Only (¢) and (d)
24,  wen At freen g verets Hid SEgAE FH0 F SAEES S ?

(a) farEsA g YR qENEIEEA =g fega ot

(b) forgea dom=n werafea gewPiERs <7 ramen 3 Sehet Amoaradt
() TILH THed TIA JEa AR G& 8157 ar QIoIrEme
(d) foEsT om=n vereie yRuTTEE =g wWafda goarardt

ﬂ'ﬂfﬁ 3?& : . ‘
(1) wE (D) (2) e (@) 3T (b)
(3) e (¢) I (d) (4) wF(c)

For the chain reaction, why is it necessary to have critical mass ?
(a) For neutrons to escape from the surface of the fission material
(b) For neutrons to scatter from the surface of the fission material
(c) To capture neutrons to start and sustain the fission reaction

(d} For neutrons to reflect from the surface of the fission material
Answer Options :

(1) Only (d) (2) Only (a) and (b)
(3) - Only (¢) and (d) (4) Only (c)
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25. R o fwed fr, 1000 7. 20U v frds g Tt S qa g,
(a) 4-3 x 109 el wad

(b) 186 fferam AT =Bee (MeV)

) 2 x 107 fhelt Fard

(d) 1-83 x 1010 frewr et

agidt I

(1) % (d)

@ W () »,

(3) & (a) AT (b) |

(4) % (b) 301 (d)

235

From 1000 g of 02

released is

U, by the given nuclear fission process, the amount of energy

(a) 4-3x10%k cal
(b) 186 million electron volts (MeV)

S (e) 2x107k cal L)
d 183x10%k cal

Answer Options :
(1) Ouly(d
@ Only(
(3) Only (a) and (b)

4) Only (b) and (d)
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WA IAT ST 26 T 30 WA I .

YO TYHa: Fod SIRANaS 9igd el A, T fquas sAfadas o f Tl o 9
fufur seam Arrasear wugdtn Pl ifdm . TowEden yafades AERTaTEn iR ATE.
ToTaHT Faq RIGHE Fguels gE1 % Yo, mmﬁmmmm

T e T,

T RUES Fiuerdl SRR TeEa: i Hell ST WA, oFEl SMTEHER  STHENd
e fades gl eWFETe WY Aok S Hefa A 9. W WEdla A e gaEde

YRR SEEee fREd. @ WRS qC A1 Sl asaand! [t SEgad SR, USaEe R dee

3 Fiam 5w AR ey Ak auId! A,
I BT g HH @ faunTdie sWEEa wee e wewa. mé?rﬁiﬁmw
e Fefar 3 Jat HaE. TU 59 JrET SrhaNel TSadRue IR A1 IR, Winss Bad dreaNad

TSHEHE 7 e A saie W e 9w TpwditE fagu anfor wefirim, wera
e A 3= FEEEEN AR e, sofenlt < giwon, sreaty 9 e sy
EEHTGRE.

TR oteft omr i, TeEEWT AeaRTAT S0 ATE qufd, arn 99 o AT Y, TSI
TR T Tecaret i E. FURd GYRR WA G6g sHad T § Al qenR e
ha.

foram tswE @ SR R TEee w9 IR, § deeatumm fawsfia @ A, weeaw
faafia smeen et @@ vqE g v @, @ ', o & swEee s sy
HEAT MR B TrEEUAT Wew H.

Read the following passage and answer the questions 26 to 30.

Money Bills originate only in the Lok Sabha. If a dispute arises as to whether a
Bill is a Money Bill or not, the decision of the Speaker of the Lok Sabha is final. The
Rajya Sabha has no power to reject a Money Bill. It can only make recommendations,

i.e., suggestions. The Lok Sabha may accept or reject all or any of the recommendations
of the Rajya Sabha.

Ordinary Bills can originate in either House. In case of disagreement between
the two Houses, the Bill is referred to a joint sitting of both of the Houses. It seems that
the two Houses have been placed on an equal footing in this regard. Really speaking,
the Rajya Sabha is in a weaker position in the matter. Since the total membership of
the Rajya Sabha is less than even half of the total strength of the Lok Sabha, the will of
the Lok Sabha would naturally prevail at a joint sitting. Moreover, a joint session is
presided over by the Speaker of the Lok Sabha.

FoeT SETEIS! ST / SPACE FOR ROUGH WORK - P.T.O.
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Members of both the Houses can put questions to ministers about the work of
their departments. They discuss all matters of public importance. But here again, the
Lok Sabha has more power than the Rajya Sabha. The Council of Ministers is
responsible only to the Lok Sabha. The Rajya Sabha has no power to pass a motion
expressing No-Confidence in the Council of Ministers.

~ The Constitution puts the Rajya Sabha on an equal footing with the Lok Sabha
in these matters : the election and impeachment of the President, removal of the
Judges of the Supreme Court and the High Courts, Proclamation of Emergency,
Promulgation of Ordinances and Constitutional Amendments. :

The fact remains that the Rajya Sabha is not at par with the Lok Sabha. It does
not, however, mean that the Rajya Sabha has no imﬁortant role to play in the
Governmental machinery. Neither House by itself constitutes the Parliament. It is the
two Houses together that are the Parliament in India. The Parliament can create new
All India Services only if the Rajya Sabha passes a resolution to this effect.

Moreover, the Rajya Sabha is a ‘Continuing House’, a Parliament chamber. It is
not subject to dissolution like the Lok Sabha. It has to play a major role during the
periods when the Lok Sabha is dissolved. All this helps to show that the Rajya Sabha is
an influential and useful body.

26, tHETIS TUHA: B AT AIE M.
(1) | (2) T=EEE
(3) forem afteg (4) Tictht uehdt AT
Money Bill originates only in the
(1) Lok Sabha (2) Rajya Sabha
(3) Vidhan Parishad (4) None of the above

27. TER fatgs gafades g f T & i SEat ?

(1) wgwd (2) YawHH ,

(3) IWgHdt (4) AN GHII

Who decides whether a Bill is a Money Bill or not ?

(1) The President (2) The Prime Minister

(3) The Vice President (4) The Speaker of the Lok Sabha

P HTHTHIS! TR / SPACE FOR ROUGH WORK
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28, AWM RYTF FETEm EE __ WY Hige 9.
(1) T | @)
(3) TEER PR TR 4) T T
~ Ordinary Billé can originate only in
(1) The Rajya Sabha (2) The Lok Sabha
(3) Any House of thé Parliament (4) None of the above

29. @Wﬁaﬁiﬁaﬁm%mﬁwwwf@rcﬁ%w i 2

(1)
(2)
)]
4)

TSHaEl TV 6EE GEAT AIGaRIET it R
g AEIS Ay AHaN F I IFEaTd
el whel

Which of the following is not a VreasOn of weaker position of the Rajya Sabha ?

(D
(2)
(3
(4)

The total membership of the Rajya Sabha is less than the Lok Sabha
Joint session is presided by the Speaker of the Lok Sabha
The Council of Ministers is responsible only to the Lok Sabha

None of the above

80. Wit M dEdd TSTET dhEy=aT st 77T ?

(1)
(2)
(3)
(4)

FTifarofet diwom '
el Thel A

In which of the following cases is the Rajya Sabha not equal to the Lok Sabha ?

(D
(2)
(3)
(4)

The election of the President
Removal of the Judges of the Supfeme Court
Proclamation of Emergency

None of the abbve
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WS AT IINE 31 @ 35 Twie I A,

1860 W= Fasuia fufcisa vame Igar awen fore Ugreaw v Pagy e,
FTAHT THIT @A S amEs Rufserrd qerrean fasvs Sdiemme wiig sod da. Jedt
ggmtia wfom oof gvaren B9 uEe Suomam aeft, s ofie el @EE Tw e
FEd! Haamm fafaw geen woa oo, s, 1863 Al Rufsersr T emfiien
frjgmft waft e geedt Oo Feft. dw, @, fFar o emid @ feie meeEE s
ARHTE TG, I AW 1868 Wierea1 AGAT GEEAIGR FHIevaTa e

1 dF wifaefies geeEr TWET el TS g, 1865 — 1876 A1 wia@sE i
T e A1t a0 T ATed QU TN EEeET Sledn @i Ut ArTieRed et et
WIS & . A AR srfufm, 18757 AR ST IR IS S Hewiatfad IFmEhEt are
il e, Wy, ® a9 Wiy O, FRr Y e el Year q@ia e anfE g
1883 @rcft JTER e,

HIERAT T SEUEig N WagAN SUER 1890 TAT IUHM FIgT UM . IR
forehremo @ Seyrarear ugdht e wefim e, fm s e onfer s s W SeETen
SHerrdicr od SRR RThist 9 SeaiEien Tiowes [aer. il g e Teeame
wates R RsheRoTR ReEmde Fe. e RiaRd e 98, Rk 3 s
foam S g wEReR ant gofa: Hiwest sen, onfr Fa S warfieeR wHamEn dner. frbe
9 WAFR Hgd U g g WO seml wEg i @ sreei sweaed et
U FROATE ST B, IO AT fareh TEv SR B,

o A, e @ Sl aEEdE @ e SR S et A
Hiegarrean . W gy 3.4, g W3 T affined 9 T Ued M. g W3 At FleoAT Teddesian
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Read the following passage and answer the questions 31 to 35.

In the election of 1860, the Republican candidate Abraham Lincoln was elected
as the President. The Republican Manifesto had included a promise of political freedom
to the Blacks. Steps were taken to fulfil the pledge taken during the Civil War, and a
number of Constitutional Amendments were done so as to g'lvé_a more political freedom
to the Blacks. For 'example, the Thirteenth Amendment passed in 1863 by the
Republican government was about the Abolition of Slavery. The Fourteenth
Amendment of 1868 ordered that the right to vote should not be denied to anybody on
the criteria of race, colour or a history of slavery.

These three Constitutional Amendments set a powerful precedent. The political
diplomats who had vowed to reconstruct the Southern States during 1865 — 1876,
began to strive towards securing the complete citizenship rights for the Blacks. The
Civil Rights Act of 1875 opened a number of fields for them where they would not be
discriminated against. The success, however, was limited; because towards the end of
the period of Reconstruction, the erstwhile slaves had fallen into the grave situation of
economic slavery, The Supreme Court in 1883 declared that the Civil Rights conferred
upon the Blacks were unconstitutional.

Their voting rights were snatched away during the decade of 1890’s using the
trap of literacy tests. Other provisions of the Act that aimed at fighting the racial
discrimination were not implemented properly. Consequently, processes of segregation
and discrimination became deeply entrenched in most of the institutions in the United
States. Jim Crow Laws and other such traditions supported segregation and

 discrimination against the Blacks in all walks of their life. The Supreme Court
validated segregation in a number of related cases. This meant that it became legally
very easy to entrench prohibition, segregation and denial of voting rights by the
implementation of the Mississippi Plan and the Negros lost their voting rights. The
Government Act which took away their voting rights and legalized segregation was
declared to be constitutional and legal by the Supreme Court. This put the Blacks in an
ironical situation. Technically, they were declared to be of the same status as others,
but they were compelled to stay separately.

Booker T. Washington wanted to solve the problems of the Blacks by peaceful
negotiations and self-support initiatives. However, W.E.B. Du Bois could not agree

with Washington. Du Bois gave a radical, nationalist and separatist stand to the Black
Movement.
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- 31.

30 A

e e e

(a) muﬁwwﬁwéwﬁmwﬁﬁmqueowamm

(b) U TGS AR T Hioar=h atqe e

() wHISAHT SugrE i AR AR srfaufas siaeae adfss IaeEn 1883 arddt
SR .

Wﬁﬁ:

(1) (b) & faum (a) =7 vfomy a2,

@) (a) @ faum (b) =1 Tom am.

(8) (o) faum (a) & +1@ MR,

(4) (a), (b) 3R (c) JT=n TerHITH Ty Td),

Reéad the statements.

(a) Thé Republican Manifesto of 1860 had included a promise of political freedom
to the Blacks.

(b) The Thirteenth Amendment provided for Abolition of Slavery.

(¢) The Supreme Court in 1883 declared that the Civil Rights conferred upon the
Blacks were unconstitutional.

Answer Options :

(1) (b) is the effect of (a).

(2) (a)is the effect of (b).

(3) (c)is the cause of (a).

(4) (a), (b) and (¢) are unrelated.

32,

1875 a1 At Al sAftfammen waifed ww e, wror

(1) qEhfrem e QU &3 gl sl g .

(2) I AHAT HAGHTE R T,

(3) Tom i R 3ah! TEmEe B F @ geoe Fas wtar 3n e B,
(4) cfroredie asaiEh e B B ,
The Civil Rights Act of 1875 had limited success because

(1) there were many fields open for erstwhile slaves.

(2) the Blacks did not have voting rights.

(3) the slaves had become too poor to exercise their choice.

(4) Southern States were being reconstructed.

FoeqT HHET WA / SPACE FOR ROUGH WORK



A 31 I15

33. omfhdie Sgan Heyined furdhie F SeHTETST gdt SIaqel SeRrtie e, S
(1) e FeTgeed A T weh g,
(2) i s srfrfamren Sl vl saafehT weh .
(3) AT AvhiAT HagMATal AfUHR fear o,
(4) what THdl A

Processes of segregation and discrimination became deeply entrenched in most of the
institutions in the United States because

(1) slavery was abolished by the Thirteenth Amendment.

(2) the provisions of the Civil Rights Act were not implemented properly.
(3) right to vote was conferred upon the Blacks.

{4) None of the above

34, gH A, Fifived o seoy 3.5 g g FroAEET B U w2
(1) S i T .
(2) YU Fererfi gBIEa HEW .
(3) T TSTSEA HRITGAIIET THAT Toud.
(4) TS I HaTe URW, T g I3 I TE GROMET TG e,

Which of the statements about Booker T. Washington and W.E.B. Du Bois is
incorrect ?

(1) Both were American Presidents.
(2) Both were active in the Black Movement.
{3) Both did not agree on the way in which the movement should be carried out.

(4) Washington was a moderate, while Du Bois followed radical policies.

35. o faum s
(1) fufafad aerge s Sewem st s e,
(2) Tufaferdt TR weam qagE™ SR fiues 9.
(3) WIERATETIF FEUHS HleAS FdeA AHR fFuas A,
(4) Tl weH FEmE e I i e R
Identify the incorrect statement.
(1) Blacks had to live a life of segregation due to the Mississippi Plan.
(2)  Voting rights of Blacks were denied due to the Mississippi Plan.

(3) Literacy laws were responsible for snatching away the voting rights of the
Blacks.

(4) The Supreme Court always provided Civil Rights to the Blacks.
FHTT HTHTATS! AFTT / SPACE FOR ROUGH WORK P.T.O.




1156 | . 32 A
AT AR AT 36 A 40 Sy T o,

mﬁﬁaﬁrmﬁmmm

e &1 o Jaer ard yar AR S i wermrre stfiaen 3. e fen iy afde
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& fm & dfaftrs wERTREE O TEmTRET vEE o W ua e feg o, @ e
S TR fagegTE wrTd qeaE F id. Seer YdTE 99 gl deg ST R Sy &
aTgaar. Tge gfi smfea ufim RerE owm S € ol s TeEEa uftm w3
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T SaTRR ae onfn wn SR o e AR O it dleae AU wie g o e
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IorREt g Tafewnel Fewnf sw@t. o Fags afim Rifsermde SR fEudt dgsem 3 nfi
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Read the following passage and answer the questions 36 to 40. |

El Nino and La Nina Ocean Currents

El Nino is a warm ocean current which occurs irregularly in the Pacific Ocean.
The invention of E] Nino is useful for the prediction of gldbal change in annual climate
and monsoon rainfall. But the generation, extension, period of El Nino is not yet
predicted accurately. El Nino is a cyclic incidence which happens at the interval of a few
years. The temperature of the Peruvian coast does not fall considerably because of this
current. El Nino is considered as Christ’s child on the Peruvian coast because it arrives
after Christmas. El Nino is a warm water ocean current which creates tropical type of
ocean climate aiong the Peruvian coast which gives good rainfall to the desert area.

The strong El Nino brings heavy rainfall exceeding normal rainfall resulting in
lush greenery in the otherwise dry coastal land of Peru. Sometimes the strong El Nino
causes heavy rainfall along the Peruvian coast and destroys the marine life (death of
fishes due to loss of plankton). The good rainfall from El Nino makes the coastal
Peruvian desert green and there is rich harvest of cotton, coconut and bananas. The
strong El Nino gives four to six times more rainfall than the normal amount to the
tropical eastern Pacific area but dry conditions prevail in the tropical western Pacific
resulting in severe drought in Indonesia, Bangladesh, India, etc. The widespread fire in
the forests of Indonesia in 1997 — 98 was related to drought resulting from a strong
El Nino event. '

La Nina is a cold ocean current that flows in the Pacific Oceah which is the
opposite of El Nino. Due to La Nina the temperature is reduced in equatorial areas of
the Pacific Ocean. When it is generated the trade winds increase their speed. It reduces
temperature of the west coast of South America and increases it in the western part of
the Pacific Ocean. It decreases the air pressure and causes heavy rainfall. La Nina is
responsiblé for additional rainfall in south eastern Asia and the desert in Peru of east
Pacific becomes drier. The La Nina is considered as the younger sister of El Nino.
When La Nina becomes effective in the tropical western Pacific, then El Nino becomes
ineffective in the tropical eastern Pacific. The dry condition in the western Pacific is

terminated and wet condition is introduced in the tropical western Pac1ﬁc by La Nina.
FEET FHTGS! ST / SPACE FOR ROUGH WORK P.T.O.




115
36.

34 A
T PR Fomeioren e A9 gshres gedT g ?
(a) SSRRREN
(b) UE
(c) wTTETeH
(d) ¥@
qaidY IW ;
(1) (a), (b) (2) (b), (c)
(3) (a), (b), (&) (4) (a), (e), (d)
In which countries did severe drought occur due to E1 Nino ?
(a) Indonesia
(b) Peru
(¢) Bangladesh m
(d) India
Answer Options : _
(1) (a), (b} (2) (b), ()
(3) (a), (b),{c) (4) - (a), (c}, (d)

37.

. fediea sar=raE snqomE o F age S A e ?

(a) ¥ 9 9P YaTE .
(b) & & e foeg R,
(¢) & f & v FEE wmend S Aee 9.

C(d) @ e R e SR R Il 9 9Ieadrd.

gt 39
(1) %aa (a) 3711 (b) (2) % (¢) =
(3) % (a), (b) 3O (¢) 4) (a), (b), (c) TfoT (d)

What information do we get about La Nina from the given paragraph ?
(a} Itisa cold ocean current.

(bY It is opposite to El Nino.

(¢} The La Nina is considered to be the younger sister of El Nino.

(d) After the occurrence of La Nina, trade winds increase their speed.

Answer Options :
(1) Only(a)and (b} (2) Only (c)
(3) Only (a), (b) and (c) (4) (a), (b), {c)and (d)
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38. ua frl @ o W1 e S s .

(1 < Rewwa Ta At (2) @ Rawwa et I

(3) it fus Hrooft ToEw IS (4) 1 IEER YETE ST A4l

El Nino is called Christ’s child because .

(1) it occurs after Christmas (2) it occurs before Christmas

(3) it occurs during crop harvest (4) it occurs along a warm current
39, UF=Ar fRrEt SR SfaarET v TS g

(1) IR VaE | (2) 98 ¥aTE

(3) wew wd f (4) wee @

The marine life is destroyed on the Peruvian coast due to

(1) Warim current : (2) Cold current

(3) Strong El Nino (4) Strong La Nina
40. @l fauw aa

(@) o PR T W A% et frrad R 3. |

(b) = A YF=a TSI Fien MHA B HIYH, TS, Fedl I WE IR 8.
(c) e Pt Wi wETETRIEtE StEHa SWeR AT SETE R

i Im '

(1) e faum (a) S0 R

2) faum (a) anfdr (b) a0 3mRE

3) frm (b) afT (c) T e

(4) = T (o) T AR

Observe the following statements :

(a) The Peruvian coast becomes green due to good rainfall from La Nina. |

(b) There is a rich harvest of cotton, coconut, banana in the Peruvian desert due to
goed rainfall from La Nina.

(¢) El Nino is an irregular warm ocean current in the Pacific Ocean.
Answer Options :

(1) Only statement (a) is correct .

(2) Statements (a) and (b) are correct

(3) Statements (b) and (c) are correct

(4) Only statement (c) is correct
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wd TGS T SO WIS AT IO Heel W B ?
(1) M, F5, TS TR GETHITET 0T FedraR Fo=t Ao arad aEae fed.

(2) mwmw&aﬁmwﬁmmmm
| queE W B,

(3) UGN T TR TaGSITIT WA § BGIEEIGHT Shelet TR0 Yo AT SHTgH <.

(4) mm‘rﬂ’mmwmaa@ﬁwmmmm
TTOTETAT SPEd T e B,

ATHIATE] SR HRH EHRAvamardt ST sae Hivran 5wl ?
(1) Tae STt Tt e SR S
(2) WYY Rad ST S @ ARl

(3) g AT NN §H @ SfgEEhd 7w Sl

(4) w0, A, Im I fegr wla e s,

YI<ft AT RV TfCAHTh W TR S ?
(1) 91, 1, 91g, 6N, gt (2) w2, Wy, 9, @, TY.
(8) &, UG, 9%, 91, IT. @) ==, o=, 1, e, 7.

Fergm wam W amide st feda seeea gater wierEn 2

(1) wwrefl Eedd el Seae 10 Gl Iatelt i ]gserd 37, I @ i o,
(2) dcaTEAT AT YT et ftas weTae srfta s i e Aater sveara.
(3) Ufieh, wiufereh GEITHITSA TR 3, FS, TS ASAT HATEl HIVETET SEAT.

(4) aFaMie FAfT Farr’ TR AAler YO WiorETn FHaw.

45.

| S AN STEes Hia e T 3w 3R g Sre e

e : Ifire ,
(a) Tissm () TR FEER W FR ;=
(b) AN (i) warefl IEREd el A Aiew 9 Fwfe wuie
| , FAE TEE TF
() qHER ‘ (iii) U T Wfew gErn «m
(d) TIrER (iv) gafggmrhs firewm 3
(e) e (v) T $aemadten S s {H
J-'N'hﬂ?ﬁﬁ:

(a) b)) (© @@ (e

(1) (v) v @ () (i)

(2) (Gii) v) G W (iv)

@ @ (iv) (v Gi) (i)

@) M v & G @
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Read the following passagé carefully and answer the questions 46 to 50.

Among the natural resources that can be called upon in national plans for
development, possibly the most important is human labour. Since the English language
suffers from a certain weakness in its ability to describe groups composed of both male
and female members, this is usually described as manpower. Without a productive
labour force, including effective leadership and intelligent middle management, no
amount of foreign assistance or natural wealth can ensure successful development and
modernisation. The manpower for development during the next quarter century will
come from the world’s present population of infants, children and adolescents. But we
are not sure that they will be equal to the task. Will they have the health, the education,
the skills, the socio-cultural attitudes essential for the responsibilities of development ?

For far too many of them the answer is no. The reason is basic. A child’s most
critical years, with regard to physical, intellectual, social and emotional development,
are those before he reaches five years of age. During those critical, formative years he is
cared for almost exclusively by his mother, and in many parts of the world the mother
may not have the capacity to raise a superior child. She is incapable of doing so because
of her own poor health, her ignorance and her lack of status and recognition of social
and legal rights, of economic parity of independence.

One essential factor has been overlooked or ignored. The forgotten factor is the role
of women. Development will be handicapped as long as women remain second-class
citizens, uneducated, without any voice in family or community decisions, without legal’
or economic status, married when they are still practically children, and thereafter
producing one baby after another, often only to see half of them die before they reach
school age.

We can enhance development by improving women power, by giving women the
opportunity to develop themselves. Statistics show that the average family size increase
is in inverse ratio to the mother’s years of education. It is lowest among college
graduates, highest among those with only primary school training or no education.
Malnutrition is most frequent in large famllles, and increases in frequency with each

additional sibling.

The principle seems established that an educated mother has healthier and more

- intelligent children, and that this is related to the fact that she has fewer children. The

tendency of educated, upper-class mothers to have fewer children operates even without
access to contraceptive services.

The educational level of women is significant also because it has a direct influence
upon their chances of employment, and the number of employed women in a country’s
total labour force has a direct bearing on both the Gross. National Product and the
disposable income of the individual family. Disposable income, especially in the hands of
women, influences food purchasmg and therefore the nutritional status of the family.
The fact that this additional income derives from the paid employment of women
provides a logical incentive to restrict the size of the family.

FEeqT TS WA / SPACE FOR ROUGH WORK . . .



46.

39 : I15

Manpower development during the next quarter century

(1)

(2)

(3)
(4)

will be adversely affected by the threat of war

will come from the world’s present population of infants, children and
adolescents '

will be well taken care of by the current emphasis of free education for women

will be adversely affected by the country’s economic losses and political
instability

47.

The writer directly or indirectly made three of the following statements. Indicate the
one he didn’t make.

(1)

(2)

3

(4)

Many of the world's present population of infants, children and adolescents will
not have the health, the education, the skills, the socio- cultu:al attitudes
essential for the responsibilities of development.

A child’s most critical years with regards to physical, intellectual, social and
emotional development are those before he reaches five years of age.
Development will be handicapped as long as women remain second-class
citizens.

In the advanced countries of the world, women are regarded as first-class
citizens, but in developing countries they are third-rate citizens.

48.

From the alternatives given, select the word closest in meaning to the underlined
word. '

They are carrying out a charade of negotiations with the government.

(D
(3)

series (2) charter
absurd pretence (4) spate

49.

Choose the correct antonym from the options given.

“Termagant”

(1)
(3)

Charming (2) Turbulent
Brawling : (4) Shrewish

b0.

Without a productive labour force, including effective leadership and intelligent
middle management,

(1
(2)
(3)
(4)

no productive work is possible
entrepreneurs will incur heavy losses
economic development will not keep pace with national movements

no amount of foreign assistance or natural wealth can ensure successful
development and modernisation
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51. mﬁxﬁn@sﬁ,zﬁéa5wé’§aﬁa.ma@%ﬁq@?ﬁﬁﬁ$@m@ 1 9g
FIET, T HIGAA =g AT T, = Huregar fomet am 2

4 3
1) = 2) 2
5 (2) 0
1 1
3 = L
(3) s (4) >

A bag contains 3 white, 2 blue and 5 red balls. One ball is drawn at random from the
bag. What is the probability that the ball drawn is not red ?

4 | 3
1 = 9

5 (2) 0

1 1
(3) s (4) 3

52,  HiRd! srvamEr anfor foen wewia ffeaud gen swom e fae.
C & @81&d F, D anfor G 1 s@redi=an Sfamien aeeht sme. C anfor A 91 q@redt E=ar gden
FAGTA AT 3fur B € g@rEd C Mo A =1 afveiien sweel o, A anfor B = g@mEd C 41
JuTE AT fimvien FEce ST
(1) B € 96T&d E 91 s@igdi=an qaen qqeiel 1.
(2) G¥ 6@ A 91 JETE=AT qvEHeT qaae! 3.
(3) G & =@Ed B 91 9@TEdl=aT IO SHA 3R,

(4) E ¥ s@Ea D I SaEdr=A fven s e,

Study the information and select the definitely true statement with respect to it.

Colony C is located to the south of colonies F, D and G. Colonies C and A are located
to the east of E and colony B is located to the west of colonies C and A. Colonies A

and B are located to the south of C.

(1) Colony B is located to thé- east of colony E.
(2) Colony G is located to the west of colony A.
(3) Colony G is located to the north of colony B.

(4) Colony E is located to the south of colony D.

FTT FTHTS! SN / SPACE FOR ROUGH WORK'
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TS 25 FA FEAA 5 FR THVAEIE 5 G AN B MeST H HRd. Mesl oA HedHR
FraT. e NUES T EATHIS! SEied NG B 2 $ S Gt anfoy wata @
AR TAPA wa:HdE el 3 F foen =,

(1) 13 2) 12

@) 8 ' (4) Ot wd) T

5 children are collecting flowers in the garden for making 5 garlands using

25 flowers each. They decided that at the end of the collecting time, they are going to
ensure that they all have equal number of flowers. Four of them are only 2 short of
making their garland as was decided and the youngest child was not able to collect
the required number of flowers. So each of the others gave 3 flowers from their
collection in order to equalise the number of flowers.

Choose the option that indicates the number of flowers that the youngest child had

| collected.
1 13 2) 12
3 8 (4) None of the above

54.

Giie w&=T 9 KT SR 316 WR 13, 8, 15, 14, 17, 9, 14, 16, 13, 17, 14, 15, 16, 15,
14. S 8 Ugsht 18 & HE&AT Uael!, W AW Fegish Y A, q X’ 3 Y it S0 fndh 7

1y 30 (2) 27

3) 28 (4) 29

Let X’ be the median of the data 13, 8, 15, 14, 17, 9, 14, 16, 13, 17, 14, 15, 16, 15, 14.

If 8 is replaced by 18, then median of the data is °Y". What is the sum of values of X’
and Y’ ?

(1) 30 @ 27

3) 28 : 4) 29
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115 | 42 A
55. e Rvtewn Al srvargy i e e siewn. awrd 39 TS A Fawen

19T € SN G e sy wfia Frm e vaan,

napu pelkeui = The girl is coming from the hut.

napu tipkeu = The dog is going to the hut.

lam mirkeui = The farmer is walking from the field.

dowl pelkeu = The girl is running to the meadow.

“The dog is walking to the meadow” & I1 W¥d o4 oMy 939 Faer.

(1) dowl tipkeu

(2) dowl tipkeui

(3} dow! mirkeu

(4) napu mirkeu

Study the following expressions and recognise structure of the unfamiliar language.
Use two assumptions that : there are no exceptions to the rule, and ohly those rules

apply which may be derived from the given expressions.
napu pelkeui = The girl is coming from the hut.

napu tipkeu ='The dog is going to the hut.

lam mirkeui = The farmer is walking from the field.
dowl pelkeu = The girl is running to the meadow.

Select the option that expresses “The dog is walking to the meadow” in this

language,

(1) dowl tipkeu
(2) dowl tipkeui
(3) dowl mirkeu

(4) napu mirkeu

Foed] HFTEIS! ST / SPACE FOR ROUGH WORK
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56. et ¥opl, ), T T ToRE W AR e dreont R greaond 3 R s,
ferdtear w1 sieon=aie @ea AP 61, 65, 73 T 69 it 3R, we HUS S fensath

e fae.
m ﬁ +
/>3<\
6 6 9 12
T
5 8 12
Tt
‘‘‘‘ 4 11 14
(1) 19
(2) 9
(3) 8

(4) 3IW TusavamErEd Qi arft R T

Study the accompanying Venn diagram that shows the number of students who
speak four languages namely; Telugu, Hindi, Marathi and Gujarati. The number of
students who speak the given languages is 61, 65, 73 and 69 respectively. Select the
number of students who speak Marathi only.

Telugu Hindi
3
- 6 6 9 12
Gujarati
5 8 12
Marathi
4 11 14
(1) 19
(2) 9
3 8

(4) Enough data is not provided for getting the answer
FTegl DTS AN / SPACE FOR ROUGH WORK P.T.O.
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e el Th Bl f 70 Fehg, AW 105 Vehga anfir e 175 dsbar quf Feft. =
faet fordht Aam g1 v foigoes Wedia ?

(L 17 3%

(2) 344 3043,
(3) 71f4 30w,
(4) 17fu. 304,

Rina, Tina and Hina are starting at the same time from the same point in the same
direction to run around the circular playground. Rina completes a round in
70 seconds, Tina in 105 seconds and Hina in 175 seconds. After how much time will
they meet again at the starting point ?

(1) 17 minutes 3 seconds
(2) 34 minutes 30 seconds
(3) 71 minutes 30 seconds

(4) 17 minutes 30 seconds.

58.

AT M Feaet THE 5.00 T oA q Ren wH 9.00 T e, I N’
fogtae et 7.00 I g2d 9 UEAT il 10.30 I EEd. 9t Qg IR
THIHH HISuaTE AR 92 FHIvd) 38 ? '

(1) WAl 7.36 e

(2) GG 7.56 qreran

(3) THAH 8.00 ISIAT

(4) HPRA 8.26 T

Train ‘M leaves Meerut at 5.00 a.m. and reaches Delhi at 9.00 a.m. Train ‘N’ leaves
Delhi at 7.00 a.m. and reaches Meerut at 10.30 a.m. At what exact time do the two
trains cross each other ?

(1) 7.36 am.
(2) 7.56 a.m.
(3) 8.00am.
(4) 8.26 am.
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FVAT UH! ETSAT T SIEAT HIITE THIA S TR I A T I A sy
T T e T aEd o R AEie o A U Yare A1 wwgre € Saehi

X : dt Sqt ). Z Aantt .
Y : XaF T, Z 9t I,
Z : X SiFex Adl, WY Sraendl T8,

(1) X et 3m.
(2) YR IR
(3) Zvawi .
(4) Tl e foum a T

All persons of a certain community are in a habit of answering any question in two

. sentences and one of these is always true and other one is always false. A visitor

came across three persons of this community : one of them is a doctor, another one is
a lawyer and third one is a farmer. Study the reply of these persons to a question

about their professions and select the true statement from the given options.
X : I am not a farmer. Z is not a farmer.
Y : X is not a lawyer. Z is a farmer.

Z : X is not a doctor. I am not a farmer.

(1) Xis adoctor.
(2) Yisalawyer.
(8) Zis afarmer,

(4) None of the above statements are true
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60.  HE UITSAT FgA ToN 9 R e wum oTR. wread 99 adie iy 2 gen ad. @

W g vt Tt At SR o i i ww ew o, Ae & S 3 R g
1% e A, e, W i oM 7 A R SR, i s Rl o, S
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(1) TH G HOMAT ST T .

(2) TW @A ST AT Fal 3R,

(3) UM TG BT =T WIS TR,

(4) T G FHOMTT =hi=T Tam 12,

There are equal number of men and women in a family of six. There are two fathers
and two sons. Additional information about these family members is as given below.
Ram is eldest and Nita is youngest of the family. The farmer is the father of the
writer and also of the doctor. Nita is Sameer’s sister and both are teenagers. Their

mother is a teacher. The only couple in the family is Jayesh and Nadira. Anna is not

married and is the daughter of Ram.

Select the option that describes the relationship between Ram and the writer.
(1) Ram is the father of the person who is the writer.

(2) Ram is the husband of the person who is the writer.

(3) Ram is the brother of the person who is the writer.

(4) Ram is the son of the person who is the writer.
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1 T
(2) d9m=n
(3) =& e gmn

(4) Togr giht &

Daya, Maya, Saya, Jia, and Nia are housewives and their team takes care of the

garden in their ‘colony. They wanted to visit places Shela, Kota, Moha, Heta and

Vela for vacation. They choose to take these holidays in the month of March, June,
' September, November and December. Following are some additional, related facts.

Jia took holiday in December but did not visit Moha or Heta. Maya went to Shela in
June. Daya went to Kota but not in March or September. Nia went for holiday in

March but as she had visited Heta, she did not go there.
Select the person who went on holiday in Nove_mber.

(1) Daya

(2) Saya

(3) Daya or Saya

(4) Data is insufficient
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i gaearehe fafshe srier aea gt res Ty we.
(a) T T TR,
(b) gr=ae fifde E.
(¢) Jrdll e WISt T,
(d) gw=aTe fafere Foeq.
it I
1) (e WﬁT (a)
(2) (a) AT (b)
(3) (@) @nfer (a)
() (b) 3 (c)

Given below is the main statement that is followed by statements labelled (a), (b), (¢)

and (d). Select the ordered pair of statements where the 15° statement implies gnd
and the two statements together are logically consistent with the main statement.

You can watch a drama only if you have a ticket.
(a) You watched a drama.

(bj You had a ticket. |

(¢) You did not watch a drama.

(d) You did not have a ticket.

Answer Options:

(1) (c) and (a)

(2) (a)and(b)

(3) (d)and(a)

(4) (b) and (c)
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(a) <iTe i rEed™ O3 M U1 9qg Taia.

(b) Yca STHAYS M § T UsHI IYd IFHUR ATEI.

(© OWwea R Naish frae ¥t wmom .

(@ M3 PHR et e Bife wig S diea st e el wom .
R 1 =ETEt P 3 M= frag Fell, @ fdew wiaey g fuw fas
gt I

(1) T =Hd I oAl R,

(@) - N1 9= 95e |,

(3) Q39 = Yo FEUIR.

(4) S wEh geE TEuR.

Two teams are to be compiled from health workers M, N, O, P, Q, R, S and T selected _
from all over the State for executing health related programmes. Each worker will be

in either of the teams and one of the teams can accommodate at the most five or at
least four workers. Given below is some more information about the workers.

(a) Being best friends O and M would be in the same team.
(b) Beingrivals M and T will not be in the same team.

(¢) R and N will not be selected along with O.

(d) Q will be selected with M and P but not with S.

If P and M are selected for a team, then select the true statement from the given
options.

Answer Options :

(1) One of the teams has five persons.
(2) . N is the member of this team.
(3) Qisin the other team.

(4) Sis not the member of this team.
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IR TEHETSt 1950 — 2010 N FIAGSTHIT M= S id IR, JAEEE! fY gereh

- fecett .
i [ G p Sy p—
‘20 and 215t Century Literature’ | 1950 — 2020 | 3T Bl T 450
The Illustrated Guide to Literature| 1900 — 2020 Tt R T 500
Beginners’ Guide to Literature 1850 - 2010 BI| EIE ¥ 400
Literature For All 1850 — 2000 | 3R IR T 550
All About Literature 1800 — 2020 | W EIE T 600

o feaeht s SR e e ) Wl wuaEE df Anh de e geET
A, I HE g 20% 28 @ (O gE B, wuE ol Taw swaciean dviqe s

T T R e S,
AR Feeh

(1) T 90 (2) ¥ 50
3) T10 (4) T 130

Aisha is studying literature of the period 1950 — 2010 for her graduation. She
decided to buy a book to help her with studies. Information about 5 different related
books which are available at the local shop is given below.

Title Period Hardback ? | Tlustrated? | Price ?
: covered

«anth t
20% and 21% Century 1950 — 2020 Yes No T 450
Literature
T%le Tllustrated Guide to 1900 — 2020 No Yes Z 500
Literature )
Beginners’ Guide to 1850 — 2010 No No T 400
Literature |
Literature For All 1850 — 2000 Yes Yes T 550
All About Literature 1800 — 2020 Yes No F 600

Next day she went to the shop with exact cash required for buying the cheapest book
satisfying her requirement. She found that there was a sale and the price of all
books are reduced by 20%. So she purchased the most costly book that she could buy
with the money she had and that fulfils her requirements.

Select the amount that is left over with Aisha.

(1) T 90 (2) T 50

3 T 10 (4) T 130
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36 fameatft firem wr=n aftewa wmEe. mmmmmmmgﬁw
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e e denia o wmer faum R,
(1) 1 ST GAvEn 12 Jeft S e,

2) aﬂamﬂamﬁwwmﬁmmmm,mwmwm
fafvrauor gemian 143 S o,

(3) o WMAT 14 o AW

(4) =09 Wadla AEeew TRU FEE G W 51 WA, W w1 S qorel we;
fFfRE 13 s/e.

All 36 pupils of the Zilla Parishad School planted in all 48 plants, a mixture of
jambhul and chiku varieties, in their locality. Every boy planted three jambhul
varieties and the each group of two girls planted one chiku variety between them.

Select the statement that is not true with respect to the above information.
(1) There are 12 more girls than boys in this school.

(2) 1If the total number of plants planted is 49, then the number of glrls in this
school is definitely 14, with respect to the above case.

(3) There are 14 boys in this school.

(4) If the total number of plants planted is 51, then the number of boys in this
school is definitely 13, with respect to the above case.

66. T 357425+ A1 AT 3 M7 5 3 AW IrET, T ATHN T o FAR THEEREY, T Award

frae.
(1) 0,4 (2) 5,4
3) 5,6 (4 0,6

If the number 357425+ is divisible by both 3 and 5, then select the appropriate pair
of digits in units and thousandth place respectively.
(1) 0,4 (2) 5,4
3) 56 4) 0,6
Foeq] BIETATGS! SR / SPACE FOR ROUGH WORK ) P.T.O.
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Study the accompanying piece of transparent paper. Select the fold image if it is
folded to get triangle.
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WIOAIhS AN A SHAT IR T HE Heueh=T g FlGumiT AT, sreiad Qe saarend
Fe WG S TS 20ATATE <A AT Tl FOATE GHAT TIIT WIoFid AT
FHAT ATE 3T AN HIUTATE Hrear 4. .

e FR R a1 ST S A TS 1R 7
(1) EETSde e gena WA= T afie wianndie a9 st andR
T,

(2) T WU YA ARl AW SR oaEt gHar omd, W HE A d
a1 il Afamrie SgaigaR T@a:SaT 9a910 9ge HOaTaTe! UETH. FEdi.

(3) TATR SR sl i S fei st 1 A el T e FeE <
TrE. .

(4) ST O Ha G919 PISIRI GTEAT Faeh-SiaHIe Ga-reat SR HdT d5d.

During the discussion one speaker said, “As claimed by some researchers, it is not
reasonable to attribute complex reasoning ability to reptiles on the basis of simple
stimulus-response explanations of some reptiles’ behaviours like searching prey,
caring for their eggs and engaging in various other life processes. But since, as
observed during experiments, reptiles are not capable of making changes in their
behaviour when they are made to face major changes in their surroundings, this
leads one to conclude that reptiles are not capable of complex reasoning.”

Which one of the following is an assumption required by the speaker’s conclusion ?

(1) In comparison with their behaviour in laboratory experiments, reptiles’
behaviour appears to be more complex in their natural environment.

(2) If reptiles were capable of complex reasoning, then they would exhibit
capab_ility of altering their behaviour as per the changes in their natural
habitat. '

(3) Complex reasoning and responses to stimuli cannot both contribute to the same
behaviour.

(4) All reptiles’ behaviour can be explained on the basis of simple
stimulus-responses.
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(1) SEfee MeST Foara Whiat JoaRTdl AT q|r dar IuRET e, armgim
et 3 T v wA SIS WEIET T W 6.

(2) W g fophd e W wedt fevamd fasfe Ter v W omd. WX WA
frrdidier siea wewETa TRt avREl! e, T g gt ST ST el

(3) wewi sATHA a1 3§ Y IAe MRA N geTHTdhd T @ S At s T

(4) Tuapa Sewga R et dhhg ol fiean T . GERE dhen 39 TS
{a1 ot REeaR Srhn Fetardl Fewrl FFFs o FOAN St wrwr faen Jy T
Fol Tirevar @l oM.

Study the following argument and then choose from the options given, the argument
that most closely parallels the reasoning of it.

The farmer’s family had an option of planting gram or soyabeans. Last year gram

received a better market price as compared to soyabeans. But in order to ensure high

yields, quality org%mic fertilisers and eco-friendly pest controlling inputs are
required for gram. Since they could not get credit required for this additional care, in
spite of the crop being likely to earn less profit, the family planted soyabeans.

(1) In order to go on excursion for collecting field data, the learners need to raise
enough money. It is impossible for them to raise the sufficient funds, therefore
they are unlikely to go on excursion.

(2} For securing promotion, one needs to meet sales targets if one is working as the
salesperson. If one is successful in meeting the last quarter’s target, then one
can hope to get a promotion.

(3) It is possible for tourists to exchange currency through bank or for poorer
exchange rate, they can use the hotel where they stay. There was not sufficient
time for finding a bank so they had to use the hotel for exchange.

(4) It is possible to get the loan from a nationalised bank or a co-operative bank.
Since a co-operative bank has higher customer service rating, a person decides
to apply for loan in a co-operative bank as she is sure of getting the loan easily.
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3 wror fae.

(1) aﬂ?ﬁwmw@mﬂﬁmﬁmﬁmaﬁmﬁmﬁwaﬁa
? T A T I We¥H (performance) FRUAH WEd Hd.

(2) EH=A TEIAN 916 HG TN THSHEH, IOoHE S i AT 9 Hiorerd
TEITAT TG TEAUTAT HIVATE! INRTAT AT WATGHTE /et 3R,

(8) WAl aRd I NI RV a1 Weblg=al ARt faadia aftom =

(4) UICTHIA TFERRNH HAN a1 @Iv sawh=al T S 3= TANE 918 2.

Scientists at the Berlin’s Institute of Pharmacy have recommended that
Ecdysterone, a hormone found in spinach, be included in the list of prohibited
substances for athletes. Scientists conducted a study for testing their hypothesis,
‘there would be an increase in performance of athletes.” They found, ‘significantly
higher increase in muscle mass observed in those participants who were dosed with
Ecdysterone.’

Popeye was deﬁnitely into something when be ripped open cans of spinach before
beating the bad guys for his beloved Olive. Now, scientists in Germany say that the
cartoon character may well have been “doping” to get his superhuman strength.

Select the most of appropriate reason for recommending prohibition on the use of
Ecdysterone for athletes.

(1) Higher increase in muscle mass gives a person superhuman strength that helps
him or her to give the best performance.

(2) Ecdysterone, as it increases muscle mass, serves as a dope and any kind of
doping is banned for athletes. :

(3) Higher increase in muscle power causes adverse effects on athlete’s health.

(4) Spinach eating causes increase in muscle mass of the person due to
Ecdysterone present in it.

71, Wit 28 wgArd, 2018 Ut I s, T fwar 22=n arefanren fawht Hivar aw 3 2

(1) "T@an (2) WHEaR (3) W (4) IHAT

Sanvi was born on 28% February, 2018. Then on which day will her g9nd birthday
come ?

(1} Tuesday (2) Monday (3) Wednesday (4) Friday
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(1) 8fe=w (2) 10 fT=m
3) 12faw (4) 15femm

A and B can complete a work in 15 days and 10 days respectively. They started doing
the work together, but after 2 days B had to leave and A alone completed the
remaining work. In how many days was the work completed ?

(1) 8days (2) 10days
(3) 12 days (4) 15 days

73. Toch fGam 3 el saA s, Reen faamrer snaif@ 9 sgemh e =0
(a) &d TR 3= AT ko oA amen wefiia wam.
(b) 9T Wt JoTete ol T, wet faensfl, agw gy amfer s
(c) o HIE! TR QY weier JraT.
Tt I ,
(1) I=d TGl Tehiaar SHaT STied] Sqdl T ATt e 7.
(2 v fadt 3= g o e yeifa w@ .
(3) vaer fardff wafame e .
(4) wO=EH T AT

Study the statements given below and select the correct conclusion based on these,
that follow : '

(a) All mathematicians exhibit an ability to do high level logical thinking.

(b) VSelf-learning students, who are not the product of traditional school system,
are usually found to be highly creative.

(¢) Only some of the mathematicians are highly creative.

Answer Options : ,
(1) Persons with high level logical thinking ability are likely to become
mathematicians.

(2) Self-learning students don’t exhibit high level logical thinking ability.
(3) Self—leafning students seldom become mathematicians.

{4) None of the above
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Find the dot design of accompanying tiles and select the appropriate part of it from
the given options.
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Answer options :
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(4) W SHTEH ARG JEW G O Ta.

Read the following argument and select the best statement that points out the flaw
in the argument from given options.

Many people think that welfare benefits create a culture of dependency and an
unproductive workforce. Many people solely depend on welfare benefits without
making any efforts to earn their living. Few years back the government introduced
tough eligibility rules for getting welfare benefits and the number of recipients has

now fallen by 15%. The government should therefore tighten eligibility rules to

further reduce the number of welfare beneficiaries.

Select the statement that points out the flaw in the argument from the given

options.

(1) It equates beneficiaries with unproductive workforce.

(2) It implies that beneficiaries are responsible for their situation.
(3) It fails to empathise with beneficiaries facing adversities.

(4) It gives the impression that the benefits are unnecessary.
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Decision making and problem lolvmg questions no, 76 - 80.

76.
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(4) Wsﬁaﬁﬁ%ﬁm:ﬁwﬁ@mﬁaﬁmmmm-
HrarE fodt afueeren F .

You are the head of a certain office. The ofﬁce secretanat is in the charge of allottmg
limited number of houses reserved for the office staff and these houses are near the
office. Allotment is done as per the rules laid down by the higher -authority of the
organization and these rules are pubhshed by the secretariat. Your distant relative
works in this office as your senior assistant. She pleaded to the secretariat that she
should be given priority in house alHotment as she has to take care of her ailing
in-laws. Another junior staff member also requested to the secretariat to allot house
as he has to take care of his allmg wife. The secretariat turned down her request by
pointing out the rules and on the basis of these rules the junior staff member has
been allotted the house considering the nature of his duties. Now your relative is
pressing you to help Lier to get houde that is allotted to the j junior staff member and
you want to avoid her annoyance. You will,

(1) order the secretariat to hold the allotment orders and delay the decla:atlon of
allotment as far as pogsible. b

(2) order the secretariat to allot the houses w1thout conmdenng any request
related to personal problems like ailment of relatives.

(3) agree with the secretariat’s noté as they have strictly followed the rules set up
by1 ti)e authorities though that mlght strain your relatlons with her and other
reiatives. v

(4) request the secretanat to explaln the rationale of the decision made about not

considering her reci uest, in your, presence for avoiding misunderstanding and
irritation of your relative.
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FHEiHAT AR dgurli T € 91 Teen gl Mo wewe anftr w2e dft mew wwah

You are a senior government servant known for your integrity. You are approached
by a group of activists who are working for social justice for the people who are
considered low caste by other groups, in most of the villages in your district that is
under your jurisdiction. Many Buddhist families from these villages are facing social
boycott and are living in miserable conditions. Activists want you to support the
mevement and actively participate in it as you are against social stratification of any
kind. Government Conduct Rules prohibit government servants from participating
in activity related to criticizing government for the condition of these people. In this
situation, what appropriate course of action would you choose from the following list
of options ?

(1) You know that large number of people are denied justice due to hegemony of
so-called high caste people, therefore you assure this group full support and

guide them to plan activities for long-term change related to this issue, though -

this is a very difficult task. :
(2) Discourage the group from doing any activity related to the problem of social
~ justice as this will aggravate the problem of the concerned people.

(8) Explain to the group that you cannot participate in any kind of such activity as

Conduct Rules prohibit you to do this and you are aware of the fact that even
highly educated people don’t have any empathy towards these people.

(4) Assure this group that you will give them full moral support and needed
assistance without getting involved personally in the programme to avoid any
kind of violence related to this issue as so-called high caste people including
high level government officials support social boycott against these people.
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You are from a farmer’s family and working as the Government Agriculture Officer.
The Agriculture Minister ordered you to organize lectures for farmers by his friend
who is self-proclaimed organic farming expert and celebrity. The Minister also
expects you to make VIP facilities available to him. You, as an experienced member
of your family, are sure that his methods are not tested scientifically and do not give
the yields claimed by him. You will

(1) - suggest the name of the scientist who assists farmers to experiment with
scientific data available on internet for guiding farmers.

(2) explain to the Minister that this person is a fraud.

(3) organize lectures of the celebrity as you know how difficult it is to convince the
Minister that his friend is a fraud.

(4) suggest the name of the scientist who is working with farmers for many years

and has designed methods of using organic fertilizers for increasing yield, using
scientific data for guiding farmers.
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Every year 20th March is celebrated as Happiness Day. As the headmistress, you
want to organize celebration of Happiness Day in school to make teachers and
learners aware of process of living happily. You have called a parents-teachers
meeting to get ideas about celebration of Happiness Day. You also talked to children
of different classes and found that adults as well as children have the same ideas
about ‘happiness’. You also talked to the devotees standing in queue for ‘darshan’ of
deities of their choice and you found that they also pray for something that can be
purchased with hefty amount. You will
(1) allow teachers and learners to do whatever they enjoy deing at school as
suggested by mgjority of persons attending the meeting and request each one to
write in brief an account of some instances of happy life that they have
experienced. -
(2) call some people whom you have observed living happily while doing their work
and leading a simple life and request them to share their ‘happy’ experiences
with students.

(3) organize teachers and parents sessions for constructing collaborative ideas
about ‘happiness’ and for assisting teachers to design learning experiences that
make the learning process enjoyable to each learner.

(4) organize lecture of a celebrated spiritual personality to make students and
teachers aware about eternal happiness as suggested by few persons who
attend spiritual lectures regularly.
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You are heading a research team in a biotéclmical company. You have mooted the
proposal for some special hands-on training in a renowned foreign laboratory. In an
order passed by your immediate supervisory head, three of your team members have
been recommended for this training. You suspect that it is deliberate on part of your
boss with whom you had differences of opinion with respect to another project. As
first point of action you would

(1) use your media contacts, social media and pressurise your boss to recommend

your name for the training.

(2) seek audience from your boss’s superiors and make them aware of injustice
done to you.

(3) speak to your boss for knowing the reason for not recommending your name for

training and explain your point for recommending you for the training if
necessary.

(4) submit a written complaint to the concerned authorities about this matter.
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